EUFOTICA

for six musicians

Miguelangel Clerc 2010 (revised 2014)



Percussion 1

almost
by the leg

Eufdtica Indications

)

Right = close to the right leg

Center = middle of the wire
This stave indicates the position of the bow
on the wire.

center

Low frequency (low tension) + playing
on the center of the wire: will make
the bow jump on the string producing
irregular beats. Allow this to happen
even if it is not graphically implied

on the score.

Harmonic headnote: high frequency (high tension)
+ playing on the right of the wire. This will produce
high frequencies (similar to the harmonics that
result when playing sul ponticello).

High This stave indicates pitch. o
|| o ~
Low The tension of the wire is changed U o =
with the fingers of the left hand. Squared head note: Regular headnote:
pull "box-instrument” play on the wire-instrument.
(at the end of the piece on
crotales).
. . . . o . Box-instrument (inverted) : metallic candle holders
Wire-instrument (instr. A) Box-instrument (instr. B) : tie a string to pull the box. glued to a carton board

Crotales: A (low 8ve), A (high 8ve), As (low 8ve), A4 (high 8ve), C (high 8ve middle), C (high 8ve top).
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1.-Each player will have an “A” instrument (wire): The wire should be amplified with a condenser microphone placed very close to the wire on the left side.
The microphone stand shouldn’t interrupt the bowing.

2.-The amplification should be distributed as shown in the graphic above. The number beside the speaker indicates the player that must sound through it.
The arrow indicates the direction and position of the speaker. The speaker will always point towards the player that is producing the sound for it.

3.-The “B” instrument should be dragged along the hallways so that space should be left open.

4.- Tape: the recorded tape is stereo. Right channel: should be amplified in speakers 1, 3 and 5. Left channel: should be amplified in speakers 2, 4 and
6. The tape may be triggered by percussionist number 2, the conductor or a technician.

1.-Cada Percusionista tendra un instrumento “A” (alambre): el alambre se debe amplificar con un microfono de condensador situado muy cerca del
alambre, del lado izquierdo. EL microfono y su atril no deben interrumpir el movimiento del arco.

2.-La amplificacion tiene que ser distribuida como en el grafico superior. El numero al lado del parlante indica que percusionista debe sonar en aquel 3.-
parlante. La flecha indica la direccion y posicion del parlante. El parlante siempre va a apuntar al percusionista que produce el sonido de este.

3.-El instrumento “B” debe ser arrastrado a traves del pasillo asi que ese espacio debe mantenerse abierto.

4.-Tape: la pieza tiene un fragmento pre-grabado en stereo. Canal derecho: amplificado en parlantes 1,3 y 5. Canal izquierdo: amplificado en canales 2,
4y 6. La grabacion debe ser activada por el percusionista numero 2.
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Percussion 6

Eufotica

Miguelangel Clerc P. 2010 (revised 2014)
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* Play the 1st bar as the audience come in.

After the audience is "relatively" silent keep on playing for one minute before starting the 2nd bar.
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